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1. Polynucleotide chain of DNA contains

(a) a nitrogenous base, deoxyribose
sugar and phosphate group

(b) a nitrogenous base, ribose sugar
and phosphate group

fc) deoxyribose sugar, ribose sugar
and phosphate group

(d) a nitrogenous base and phosphate
group only

2. The process of copying genetic

information from one strand of DNA
into RNA is termed as

(a) translation
(b) transcription
(c) replication

(d) mutation

3. AIDS is caused by the Human Immuno-

deficiency Virus (HIV). The transmission
of HIV infection generally occurs
through

(a) eating contaminated food and
water

(b) transfusion of contaminated blood
and blood products

(¢c) inhaling polluted air

fd) shaking hand with infected person

4. In human body, the cell growth and

differentiation are highly controlled and
regulated, but in cancer cells

(a) there is breakdown of these
regulatory mechanisms leading to
formation of benign and malignant
tumors

(b) controlled cell division and over-
production of genetic material
occur

fc) RNA is mutated and produced in
less amount

(d) DNA is mutated and produced in
less amount

5. Most viruses that infect plants possess

(a) single-stranded DNA

(b) single-stranded RNA

(c) double-stranded DNA and RNA
{d) double-stranded RNA only

6. Syngamy results in formation of

fa) haploid zygote
(b) diploid zygote
(¢) non-motile male gametes

(d) motile male gametes

7. Bleeding of gums, falling of teeth, fragile

bones and delayed wound healing occur
due to the deficiency of which one of the
following vitamins?

(a) Vitamin C
(b) Vitamin K
fc) Vitamin D
(d) Vitamin B
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1. DNA 4 sifsafFasiege Saa § = wHiae
T 87

() TH AEIA e, festadivET e
i ek vge

(b) T ARG @k, UM TEG AN
FiERe T8

(c) Tesiiadigara wha, TFEW WG R
HEhe §YE

(d) A U AT & 3 FRhe §E

2. DNA % T a9 (¥3) & RNA #
gEfs gEa & ufoew Rosfen @
FEAT 87

(@) TEHTE
(b) ¥R
(c) iaie
(d) Ieaftada

3. AIDS W HRY WA FYASFERCH aww
(HIV) B wmrad: HIV €FR9 31 90T
forgs wiegm § B R7
(@) G3fa WISE Td e T80 FA |
(b) HEfd T Td T IeTEl  Hawl A
(c) Wit gan § wiE o4 @

(d) Hwia =afE & a1y fram |
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4. i T 3 FR 3R e sffERE
vg Frafim 24 &, feg e Fiftemed #

(@) T Fams Grafafel % e & 9. 3

geH (benign) W@ 3@ (malignant)
42 (tumor) ¥4 T &

(b) Frifa Fife fawem @ sEtie el
1 Afe3eqred & ?

() RNA 3af@fia gm & w§ 39 #wen 3
IeqTfea wren @

(d) DNA Ieaftafda €1 } w@ 3w = #
Ieqifea gran R

5. d B wEhE FQ T9 e R §
w1 B 87

(a) UHE TIES aTE DNA

(b) THE TEIES aTA RNA

(c) AW TS a1 DNA 3 RNA
(d) FaE AR TGS e RNA

6. THEH-Ged F TRUITHEEY #1 aqdl 87

(a) IR FH
(b) Tamfor Zm
(c) Frda TIH
(@) e G

7. 79l A whaE, adl w1 e, afeE @ ap
a1 w@ A w@ § ¥l Frefafas A @ R
e 6 #f | At 27

(@) Tafim C
(b) Tarfm K
(c) fa=fm D
(@ TaafmB
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8. When a piece of pure silicon is doped

with aluminium, then

fa) the conductivity of the doped
silicon piece will remain the same

b) the doped silicon piece will become
n-type

(¢) the doped silicon piece will become
p-type

(d) the resistivity of the doped silicon
piece will increase

9. Suppose voltage V is applied across a

resistance R. The power dissipated in
the resistance is P. Now the same
voltage V is applied across a parallel
combination of three equal resistors
each of resistance R. Then the power
dissipated in the second case will be

fa) P (b) 3P
(c) P/3 (d) 2P/3

10. Which one of the following is not a

semiconductor?

{a) Silicon

(b) Germanium

(c) Quartz

(d) Gallium arsenide

11. A parallel-plate capacitor, with air in

between the plates, has capacitance C.
Now the space between the two plates
of the capacitor is filled with a dielectric
of dielectric constant 7. Then the value
of the capacitance will become

(a) C
C

® <

fc) 7C
(d} 14C
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12. For which one of the following does the

centre of mass lie outside the body?
(a) A fountain pen

{b) A cricket ball

fc) A ring

(d) A book

13. Which one of the following is a physical

change?

(a) Burning of coal

(b) Burning of wood

(c) Heating of a platinum crucible

(d) Heating of potassium chlorate

14, The pH wvalue of a sample of

multiple-distilled water is
(a) zero

(b) 14

(c) very near to zero

(d) very near to seven

15. Which one of the following is the most

characteristic property of an element?
(a) Density

(b) Boiling point

(¢) Mass number

(d) Atomic number
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8. va g TufeEa ¥ & gHs F yTghiteE B 12. Pt § @ frum defa-F3 ag ¥ T

wifza () B s R, @ B 87

(@ wiea T % gHe H STerhal ' (@) WA W
FqfEfda @

(b) WA Fafa % gHel - & S (b) Torde H

(c) Wit Rafere %1 gFe1 p-w&d == ST (c) T (aem@)

(d) wita fafesa & gwe A sfdgdm 9g (d) T
st

9. WA @i, UF NRY R W dwzal V @A ¢ 13. Frfafaa # @ #-a v it e 27

ufedy I & P 2| e o wied, e i

A v w1 ufdy R R, F T GERR wASH (@) 1 e

1 aren S &4 fean @m?

@ P (b) 3P (c) TR Ffdae ) T HE

(c) P/3 (d 2P/3 (d) eRmEm TRz F O

10. frefefan i 8 -9 & AT TE 87 | 14, ag-3NGA I F TH T4 B pH AH B

(a) Tafers (@
a
(b) EREH e
(c) e 5 L
(@) Hfeam sdaEe (c) A H SAafere
11. T g iz quifE, e wfe % 6= @ %
F g 2, 6 uRer ¢ B @ wwfe A A
wfgmelt % i % wm A w voage, e 15. frdl @ W waiw  sbenafe e
TAYA 7 ®, § W a1 R | @@ 9 F 7H Freffag § ¥ B9-T 27
w1 gm?
@ C (@) EAd
(b) %2 (b) EUATE
W 7e (c) FEHH HEA
(@ 14C ' (d) T I
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16. There are two elements—calcium (atomic

number 20) and argon (atomic
number 18). The mass number of both
the elements is 40. They are therefore
known as

(a) isotones
(b) isochores
(c) isobars

(d) isotopes

17. Plum Pudding Model’ for an atom was

proposed by

fa) Antoine Lavoisier
(b) Robert Boyle

{¢) Ernest Rutherford
(d) J.J. Thomson

18. What is the number of atoms in 46 g of

sodium-23 (N = Avogadro constant)?
(@) N/2 (b) N
fc) 2N (d) 23N

19. Which one of the following statements is

correct?
For the purpose of Census 2011

fa) a person aged seven and above who
can both read and write with
understanding in any language is
treated as a literate

(b) a person aged eight and above who
can both read and write with
understanding in any language is
treated as a literate

(c) a person aged nine and above who
can both read and write with
understanding in any language is
treated as a literate

(d) a person aged ten and above who
can both read and write with
understanding in any language is
treated as a literate
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20. In which one of the following States

is Loktak Lake situated?
(a) Sikkim

(b) Himachal Pradesh
(c) Manipur

(d) Meghalaya

21. The ratio of gross cropped area to the net

sown area is called

(a) cropping intensity

(b) intensity of crop rotation
(c) crop productivity

{d) cropping diversity

22. Which one of the following is the correct

sequence of occurrences of rivers from
Chennai to Kolkata when travelled by
road (shortest distance)?

fa) Krishna, Kaveri, Godavari,
Mahanadi, Subarnarekha

(b) Krishna, Periyar, Godavari,
Mahanadi, Subarnarekha

(c) Penneru, Krishna, Godavari,
Mahanadi, Subarnarekha

(d) Penneru, Mahanadi, Subarnarekha,
Godavari, Krishna

23. Which one of the following statements

with regard to volcanoes is not correct?

(a) Stratovolcanoes produce lava flows
that initially follow valleys but are
highly resistant to erosion.

(b) The surrounding areas can remain
highlands, lava ridges or mesas.

(c) Hawaiian shield volcanoes are
eroded by streams that form deeply
carved valleys with steeply sloping
heads.

(d) The system of streams on a
dissected volcano cone is not a
radial drainage pattern.
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17

18

19

. A dE—¥fEm (wa] wEiw 20) iR HEH

(v wHi 18) B 1 awl 6 FHAM
FE& 40 B W T F F1 FHE S 87

(a) AT
(b) ERAEEAE
(c) EAITEH

(d) T

. Tt v % forg “wem gfen wisw' fRes g

T @?

(a) TR ATEES
(b) &l afga
(c) IR EIHE
(d) Fo o ATHEA

. RifEm-23 ¥ 46 g § v A we

2 (V= IR Faas)?

(@) N/2 (b) N
(c) 2N (d) 23N
. Trafafiga § § F9-81 99 @@ RY

AT 2011 % WEE 3G

(@) ®@ a4 R R A WY F PR
=afen, o) fd oft o 3§ wwe % WY 98
v fora g 2, WG YRH 0 R

(b) w3 a8 i TR wfuw Iy W oA
=afes, s fed oft v & wum F WY 9
v fera wha1 R, WER GEE ST R

(c) N ad i R afuw g w1 w Ak,
s et off s 3 wwg % w9 g 3R
fora gaa B, 1A GHE ST R

(d) &8 3R gEd wfys g & FE A,
S frdt off o wm F Wy 9g 3
for@ waan B, IeR wHen STar
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- 23

. Treffia # | fra Tsa # wees 9 fm R7

(a) oo
(b) Tewr=e waw

(c) TG
(d) HawE

. T TG-8F%E § Feafas T8 & F g

= 1 FE A BT
(a) A HEAA

(b) FEE T I Al
(c) WEE IeqTEEHAl
(d) I fafguan

. T ¥ FreEa ) AE ges A (JEan g0)

¥ F@ W, A fi Rl = owd@ A
Ffafaa # @ #FR-m 87

(@) Fom, wRQ, TEEd, Red, gavia
(b) Fom, AR, e, TEd, gavian
(c) ®, Foom, e, Hewdl, gavhar

(d) U, HEWE, gavian, mamEt, Fn

. waramfadl F gy # freafafes § @ R-w

A g TE 27

(@) ARE SETETgE! SEER W I @ 6,
N Ry § wiedl # SEEw w=Ka g,
g a7te 1 st wfedd R

(b) FTE-W F &@ I|YH, TE@ T (FF)
HYT HE1 @ T T

(c) &S Tl SaTaTE Bs g sTRiEd
1 2, P @d zam & W areh Ted
Iehiof wifeat wedt §1

(@) T = sremget vig W w1
frm @ sl samR vieey 8 g )
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24. Kwashiorkor disease in children is

caused by

(a) sufficient carbohydrates but less
fats in diet

(b) sufficient carbohydrates and fats
but deficient proteins in diet

fc) sufficient vitamins but deficient
fats in diet

(d) sufficient fats but deficient
vitamins in diet

25. The mammalian heart is myogenic and

it is regulated by nerves. The heartbeat
originates from

(a) sinoatrial node
(b) QRS wave
(c) T wave

{d) hepatic portal system

26. The plant growth regulators are small,

simple molecules of diverse chemical
composition. They are

(a) carbohydrates, fats and proteins

(b) indole compounds, adenine deriva-
tives, carotenoids and terpenes

(c) fatty acids, glucose and vitamins

(d) vitamin C, vitamin D and glucose

27. Consider the electromagnetic radiations

having wavelengths 200 nm, 500 nm
and 1000 nm. Which wavelength(s) of
the following can make visual sensation
to a human eye?

(@) 200 nm and 500 nm
(b) 500 nm and 1000 nm
fc) S00 nm only

(d) 200 nm and 1000 nm
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28. A copper wire of radius r and length [ has

a resistance of R. A second copper wire
with radius 2r and length [ is taken and
the two wires are joined in a parallel
combination. The resultant resistance
of the parallel combination of the two
wires will be

5

(@) SR ) R
4 R

) SR @ <

29. A parallel-plate capacitor of capacitance

G is made using two gold plates.
Another parallel-plate capacitor of
capacitance C, is made using two
aluminium plates with same plate
separation, and all the four plates are of
same area. If p, and p, are respectively
the electrical resistivities of gold and
aluminium, then which one of the
following relations is correct?

fa) G >C,
(b) C;>G
(c] Cpy= Cng
(@ G=0C,

30. A photon of X-ray has energy of 1 keV.

A photon of visible radiation has energy
of 3 eV, In this context, which one of the
following statements is not correct?

fa) The wavelength of X-ray photon is
less than the wavelength of visible
radiation photon.

(b) Both the photons have different
energies.

fc) The speeds of both the photons in
vacuum are different.

(d) The frequency of X-ray photon is
higher than the frequency of visible
radiation photon.
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24, = § wiyeE O e s | g 27

(a) ¥R H i FEiegse, g a@ #
Al

(b) @TeR & wrEEESE 3R @ H @ty 6w,
forg MR A F

(c) =R % waiw faeifim, feg am i =i
(@ =R # v T@, g FafE i wh

25. Miftas gea Wefisees B 3 = dfmmett g
Frafaa Bran ¥ %23 w9 =El A Wiy B 7

(a) Frexfem A

(b) QRS %

{c) T %

(@) < Faifed o

26. Yy a4 Fes, P taats gEaE &
DI, HURW ] Fa ¥ A T EL

(a) FrETEESe, 991 3R N
(b) ¥2r@ D, VA =gea, Faferge v
249

(c) Fa-31d, e A fEefE
(@) faafm c, fefim D i wFm

27. W frp-geda fAfeol w fEr fif,
% @0 200 nm, 500 nm ain
1000 nm % F=fefles § § F¥F7-0/3
e e A gR-agyfy ¥ wwaw 2/
Ta 87

(@ 200 nm ¥R 500 nm
(b) 500 nm 3R 1000 nm
c) Faa 500 nm

(d) 200 nm 3R 1000 nm
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28. fm r W@ g 1 % TS df" F qR F1 ufey

R % dfa %1 u% ggu on, R s 2r @
g 1R, T o R iR W 3N AR B
R g A oSrel T R 2E) 9l F

HHFR A9 %1 gitor) wiedy feawn €m?
5
(@ SR (b) 4—R
4 R
(c) ER (d) s

29. §9 # B tRFEe F S g gl

gurfa s T R, e afa ¢ R
3R gaR ufeE d@ata, Yghiftem 6 @
fEsedl | S w2, Rmd wfen
c, ¥ ¥ wufEl i wfgwe @ sim
wwaaE ® i wft s afEet W dawe
e B ARk WR ol tghifem i Agm
mm:pgmpa%,?ﬁﬁﬂm
 § FH-1 Ty e 27

(@ G >G
(b) C>G
e} Gpa=Capg
@ G=C,

30. TEH-TH % UH B B FA 1 keV R 7H

fafemor ot ©F B i FH 3 eV RI W
g=d 1 Prafafas § 8 @9-w suw 5 7
27

(o) TFE-TEo wER @ wed, 7@ fafEo
HEH & quiesd d F9 8

(b) <1 B S fm R
(c) Trafa @ 2 B 1 = m k)

(d) TEE-TER wEiEl @it amghh, g fafeo
w1 safa @ i R

[P.T.O.
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31. The optical phenomenon that is primarily
responsible for the observation of
rainbow on a rainy day is

(a) diffraction
(b) interference
{c) dispersion

(d) reflection

32. With regard to ‘Project Tiger’, which one
of the following statements is not
correct?

(a) It was launched in India in the
year 1973.

(b) The objective of the Project is to
preserve the habitats and tigers
therein as natural heritage.

(c) The Project emphasized to ensure
viable population of tigers in India.

(d) There are no Tiger Reserves in
north-eastern part of India.

33. Which one of the following is not a
biosphere reserve of India?

(a) Agasthyamalai
(b) Nokrek
(c) Great Nicobar

(d) Great Himalayan
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34. Which one of the following statements
with regard to the Indian Railways is
not correct?

(a)

(b)

fc)

(d)

The Indian rail networks have been
developed throughout the Konkan
coast.

There is very low density of railway
lines in the Himalayan region.

The north Indian plain has a dense
network of railway.

At present, India has the largest
railway network in the world.

35. Which of the following statements with
regard to the Mediterranean agriculture
is/are correct?

j &

The Mediterranean agriculture
is highly specialized commercial
agriculture.

It is intensive subsistence
agriculture dominated by wet
paddy cultivation.

It is a primitive subsistence
agriculture.

Viticulture is a speciality of the
Mediterranean region.

Select the correct answer using the
code given below.

(a)
(b)
(c)
(@)
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31, = % FFfl m muge % feard usd F

32-

FA-H TEEE 9 e ¥ 9 ITa 27
(@) faada

(b) AR

(c) WO

(d) TTEd

‘Uz TR ¥ weey § fPefafes 4 3

FH-T1 FYH GE T 27

(a) 38 a8 1973 § wwa # ey fFEn ™
o1

(b) T@ wREE F oI wHGw T@ R
aHEl F, WiHlas fauwd & ¥4 H, I
WH W guiEa @ R

(c) 38 UERA 3 9Ra A aE i Saasm
el gifraa w3 #1 ge )

(d) A F gaww w # B o fed Tl
B

33. F=fafaa 1 4 F19-w saved wiidm &9 wiE

7 = 27

(a) TTREATHEATE
(b) AEE

(c) ¥z Frran
(@) U2 fenreaa
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34, YdE Yo F ey 1 Pefafeas 4 @ @9w-m

FYA WA A R7

(@) |¥U FiEU G2 W WRAE i@ FoA2EE
faefta & g1 21

(b) Tomem & 3 Yo gl i geEa aga
]

fc) IW NG & Harl &7 | o9 # Aah
w9 R

(d) adum B, yra % TE fava #1 5w 99
EcckEccE R d

35. YHWIETIY FY % gy # fefafea 3 3

F-91 /A Ty = B/R7

1. ymeEErd Fh sfhfEtn i 5h
2

2. W& WA Sea-Fafe #f R, el o
ur F Gt ) gaen R

3. I' % JaA sheA-fate w5 2

4., AREEA, YEHEIE &1 fl @
ferdvaen 2

= &y T F2 = wE R wd I g
(@) Faa 1
(b) 2 33
fc) *ad 1 3N 4
(d 1,34
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36. Which one of the following statements

with regard to the winter solstice is
correct?

fa) The South Pole experiences
24 hours of darkness.

(b) It occurs on June 21.

() The North Pole experiences
24 hours of darkness.

{d) The Sun is at aphelion.

37. Tropical evergreen rain forest biome

provides optimum environmental
conditions for the growth of plants and
animals. Which one among the following
statements regarding this is not
correct?

fa) It has heavy rainfall and high
temperature throughout the year.

(b) This biome is also called mega-
thermal biome.

{c) The evergreen rain forest biome
extends between 10°N and 10° S
latitudes.

(d) The maximum development of this
biome has taken place in central
and southern California, and north-
western coastal lands of Africa.
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38. Tsunami waves are the undersea

occurrence of earthquake exceeding
75 on Richter scale. Which one of
the following statements regarding
this is not correct?

(a) 1t often generates strong waves.

(b) The Pacific coasts are most
vulnerable to Tsunami waves.

fc) Tsunami waves are also called
high-energy tidal waves or seismic
sea waves.

(d) Tsunami is a Latin word.

39. Which of the following statements with

regard to cloudburst is/are correct?

1. It is defined as sudden localized
very heavy downpour with cloud
thunder and lightning.

2. It mostly occurs in the hilly areas.

3. It results into very high intensity
of rainfall, i.e., 250 mm-300 mm in
a couple of hours.

4. It occurs only during daytime.

Select the correct answer using the code
given below.

fa) 1,2 and 3
f(b) 1, 3 and 4
fc) 2 and 3 only

(d) 2 only
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36. Yiadmela s & @y ¥ Frefafaa 3 @ 38. 4z % ¥ R &a W 75 ¥ fiw w
FH-H1 FY TE 27 YF A H g ) gArd awt FEa ¥
vy Feafafan % 3 $9-w 599 9d =4
27
(a) O ya w24 H2 H&U B @ B
(a) TE WA T A€ IeqH A # |

(b) T 21 SH I B R ' (b) WET WEWPRE W2 A @l % fog
afa gira &

(c) T ga T 24 =2 AV B @al B fc) Wmﬂﬁﬁ-mamaﬁm
sEefl IR a0 ot e § )

(@) &b, e w R (d) T (Tsunami) T & w2 B

39. it WEHR (dRa F21) F way # Frafefas §

i i . | F-11 /8 F gh R/E?

s 3%““'“%%2"”@" %ma”‘m‘“”‘a 1. @ awe TR s feeh T ¥ e
A Y i U U S AN A B I
et il ;{qmmaﬁ%mimmﬁaﬁmw

|
2. U@ HAftewiva: vErEdt &= A S )
() T F-wt 9 a9 AAR R ow@ oI=wm 3. T womrEey agd @@ aw (i
A & T R Fo € 92 § 250 mm-300 mm TF)
Bt B
PRRURIUE S ogges Spues wy gue s 4. YEEE P E TR AT
R T o e = yEm = w3 g
(c) Maﬂ-maﬁi\nlo°na?R10°s @ 1,233
Hgiw F 9= e gon B1
(b) 1,334
(d) @8 SfEm %1 sfusmm faem 7 o (c) Fas 2 3 3
afaofl o @ sfw F
Iw-afeed adtg &t 3 gen R (d) *ae 2
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40. Which one of the following with regard
to Aridisol, one of the soil orders, is
not correct?

(a)

(b)

(c)

(d)

Lack of water for plants during
most part of the year

High organic matter

Large accumulation of carbonates
at depth

Absence of deep wide cracks

41. What is the maximum number of states
of matter?

(a)

(b)

(c)

(d)

Three

Four

Five

Variable

42. The chemical properties of an element
depend upon

(@)

(b)

(c)

(d)

the number of isotopes of the
element

the mass number of the element

the total number of neutrons in the
element

the number of electrons in the
outermost shell of the element

BLS-E-EDF/67A
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43.

Which one of the following statements

is not correct?

(@)

(b)

(c)

(d)

The cathode rays originate from
cathode and proceed towards the
anode in a cathode-ray discharge
tube.

The television picture tubes are
nothing but cathode-ray tubes.

The cathode rays themselves are
not visible.

The characteristics of cathode rays
depend upon the nature of the gas
present in the cathode-ray tube.

44. The molecular mass of sulphuric acid
is 98. If 49 g of the acid is dissolved in
water to make one litre of solution, what
will be the strength of the acid?

(@)
(b)
(c)
(@)

Two normal
One normal
0-5 normal

Four normal

45. Which one of the following statements
with regard to Jet stream, an upper
level tropospheric wave, is not correct?

(@

(b)

(c)

(d)

Previous Pathshala

It is a narrow band of high-velocity
wind.

It follows the wave path near
the tropopause at elevations of
8 km to 15 km.

Jet streams are typically continuous
over long distances.

In summer, the polar front jet
achieves its maximum force.
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40. wfifeata, s ga wAnd § & v R, F P § 43, frfofan # & #9-m w9 5 T 27

TR W S o e 8 PR 0 W W e s S

(@) af % s w § dei F Ry g i, #elre A 3e B # i e A

& o Tfe e R
() elfasm faa afesd ol o 7@ afes
(b) reafi da v elrg foreor ferenrd, 1

(c) e Fordl v g i B R
(@) %Fure Tl @ fdwad, Fae o

(c) TTEUE T HEIA] 1 AT HEAA

(@) Ted < TR B AvE aferem # @ & vl w fok
Ezoild
5 ) sraes ) afEan @ ? 44, TeHRF I F ovas ¥=AE 98 B AR
e i T o e a9 & foe urh & 49 g e
HieT S 2, o 3 ) gEeal /& g8
(@)
(@ &=
R (b) T AT
(c) di (c) 05 i
B
(d) viEdEiE el
45, 2 AR, S UH S0 TR A ey o R,
¥ "o 1 Frfafaa § @ #¥9-91 97 898 T8
42. & 7 F vamtE e e w el @ 37

L
(@) T& IA-I AY F TH WA 48 B

(a)ﬁ*mfﬁﬁﬁm (b)'qggk,nﬁlsm»nﬁgﬁrgq(

et % FreRe a0 99 1 FET FH
(b) T F THIR T 2
. (c) e gRE W Fe vaEl # o favy wwn
fc) =B =Ml & Fa T £ G AR
(d) T= H gER aed Fw F goEE o (@) e ¥ g amam S 39 St
& T W ol ¢
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46. The Gulf Stream is a poleward flowing
current in the Atlantic Ocean. Which
one of the following statements with
regard to this is not correct?

(a)

(b)

(c)

(d)

It is similar to the Kuroshio current
in the North Pacific Ocean,

It transports warm, tropical water
towards polar region.

This current is a major factor
in weather along the east coast
of the USA.

The warm water of the Gulf Stream
sustains the coral reefs of West
Pacific Coast.

47. Which one of the following about sugar
industry of Peninsular India is not
correct?

(a)

(b)

(c)

(d)

High yield per hectare of sugarcane

Higher sucrose content

Long crushing season

Most of the mills in the Peninsula
are located mainly along the east
coast

BLS-E-EDF/67A
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48. Rand/ZAR’ is the currency of

(@)

(b)

fc)

(@)

Burundi

Libya

Sudan

South Africa

49. Which one of the following ports is
located on estuary?

(a)

()

(c)

Kandala

Marmagao

Kolkata-Haldia

(d) Tuticorin

+ 80. Which one of the following statements

is not correct?

(@)

(b)

fc)

(@

Previous Pathshala

Pavo cristatus is the national bird
of India.

Nelumbo nucifera Gaertn is the
national flower of India.

Ficus benghalensis is the national
tree of India.

Mangifera indica is the national
animal of India.
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46. TF M, FANRH HEWIR A UH yanvyga . 48. ‘Te/av’ wal & gz R?
yaTEd uR ¥ 36 ey § fFefefas §

F-91 FY GEl 74T 27 (@ T

() F& Iudl woia FEErR H FAM 9 * (b) i
wH B :

fc) HEH

(b) & T, IWEREHE W@ F Y &E

6 ik 3 s B ) SR

(c) USA % &l a2 % 9iH ¥ Hrem & forg a7 wo: B 8 s S =

UR] TF T FF ¢ R 37
(d) Tk W w1 I S, e g (@) FHige
TEMrHE §2 # Yaasfedl @ §bn :
T 2 (b) wrgE
(c) FHierrran-gfesan
47. YEEdE NRa & = 3O F aR # Fefafee
33 -7 7 7 0 i

(@) TR F WG TR IR IAGA 50. Fraffan & @ -7 a4 w8 T8 27

(b) THT GHE A (a) WWE F A e A9 fEeered R
T 1 TEHA FhET TR
(c) vl J0d (Hee) Hafy © Ll

(c) WA 1 UEHA I& FIEHT CH09 8|
(d) wEde § sfvw i gee: @ @ F
oy i 2 (d) TG F1 TR 9y Tfie sew R
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51. Which one of the following statements is 54. India became a member of which one
correct in relation to the GST Bill passed of the following in 2016?
by the Rajya Sabha in August 2016?

(a) Non-Proliferation Treaty
fa) It will replace all central taxes,

duties, etc., only by a single tax. (b) Missile Technology Control Regime

(b) It will subsume central as well as (c)

Nuclear Suppliers Group
State taxes, duties, etc.

- (d) Wassenaar Arrangement
(c) GST will be levied on alcoholic

liquor for human consumption at a

unfiorm rate of 25 percent. §5. India signed an agreement in 2016 to

develop a strategic port in one of its
neighbouring countries. What is the
name of the port?

(d) Petroleum and petroleum products
shall not be subjected to the levy
of GST.

(a) Chabahar

52. The sensitive information leaked in
August 2016 concerns which one of
the following defence platforms of India?

(b) Gwadar

(c) Hambantota
fa) Fifth Generation Fighter Aircraft

(d) Mongla
(b) Combat Helicopters

56. Which one of the following statements
is not correct in respect of the

South Asian Association for Regional
(d) Unmanned Aerial Vehicles Cooperation (SAARC)?

(c) Submarines

(@) Its Headquarters is located in

§3. How many medals were won by India Kathmandu.

in 2016 Summer Olympics?

(b) China is the only country with an

fa) One Silver and one Bronze Observer status in SAARC.

(b) Two Gold fc) The First SAARC Summit was held

in Dhaka.
fc) Two Bronze

(d) The Eighteenth SAARC Summit
(d) None was held in Nepal.

BLS-E-EDF/67A 18
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51. 37T 2016 # =9 |1 20 IifE fFT e GST

fatms & gy A frefaflas 4 @ $9-m
FYq gEl 87

(a) T @i FEE F, YoHi e F Faa
Tk Tohel & 4 wieeanfia =

(b) T FZ F WY-HY TH F W, [TF
ot off wfefera €M)

(c) AHE I ¥G WA W 25 wfwa &
UFHHH 2§ GST &1 S|

(d) Yfeam iR WPifegw 3@ GST #i
INE & 3 TE B

52. 3Rd 2016 # wEREfE daesfia gam,

qia F fefefaa 3 3 e @ <o 3
wafm 87

fa) vl G F g fomm
(b) ETE efereiz

(c) gl
(d) wHatEa famm

53. 2016 % HyEela Naf@s 7 G 1 fha

YeF Sfa?

(@) T A IR T FH
(b) A =i

(c) AT

(d) T *H 78
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54.

2016 # 9ra Fr=fafas # 4 frae wee =17
(@) ATA-wfewtem A (gom) swer §@fY)
(b) Tirgmge TiraiTsh Seter &

(c) R wwrd 19
(d) TRAR s

55. 2016 ¥ WRA A 394 TF YS9 F WY TH

awis deeme fFwfia +¢ ¥ @ wwea
Toran| 39 Feome F1 A R/ R?

(@) SHER
(b) ™R
(c) E&HI
(d) whTen

56. @@ ufirnd &g "edm "W (SAARC) #

ey § Tefafas # @ #9-91 F99 98 78
41

(a) FE& qEATTE Fewig A e R

(b) Fa@ 44 € | 2w B, Rl SAARC
# g =i = WW B

(c) 94" SAARC frer weiem @ #§ gan
a1

(d) 33WEaT SAARC frar @i Jue #
7 1|

[P.T.O.
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57. Which of the following statements about
the Ilbert Bill (1883) is/are correct?

1.

limited
native

It proposed to grant
criminal jurisdiction to
officials.

It proposed to grant complete
civil and criminal jurisdiction to
native officials.

The proposed Bill generated
opposition from England’s European
subjects in India.

In spite of opposition to the Bill,
it was passed without any
modifications.

Select the correct answer using the code
given below.

(a)

1 and 2

(b) 2 only

(c)

1 and 3

(d) 3 and 4

58. Consider the following statements about
the Second Five-Year Plan :

)

2,

3.

%

It was drafted under the leadership
of K. N. Raj.

It proposed that industries
like electricity, railways, steel,
machineries and communication
could be developed in the public
sector.

The drafters found balancing
industry and agriculture very
difficult.

The drafters found balancing

industry and agriculture really easy.

Which of the statements given above
is/are correct?

(a)
(b)

1 only
1 and 2

fc) 2 and 3
(d 3 and 4

BLS-E-EDF/67A

~ 59. Consider

the

following statements

about the different meanings of ‘Swaraj’
as articulated by Mahatma Gandhi :

1.

Swaraj is intimately linked
with Ahimsa (non-violence) and
Satyagraha (adherence to truth).
Swaraj has two senses—one

political and one beyond the realm
of politics.

Swaraj is something that requires
time and patience to acquire.

With determination, Swaraj could
be obtained easily and quickly.

Which of the statements given above
is/are correct?

(@)
(b)
(c)
(d)

1 only

1 and 2 only
3 and 4

1, 2 and 3

60. What was/were the formative influence(s)
on the philosophy of Mahatma Gandhi?

1.

Gandhiji was influenced by the
18th century Pranami sect that
advocated the unity of faiths.

Gandhiji was influenced by the
theosophists.

Gandhiji was an admirer of
the writings of Romantics like
Wordsworth.

Select the correct answer using the code
given below.

(a)
(b)
(c)
(d)

20
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1 and 2 only
2 and 3 only
1,2 and 3

1 only
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57. To@é fatas (1883) ¥ ant § f=fafas § A
FH-91/8 Y g8l g/87

1.

T dife cifts siftefa, srdl
STl ) WeF FE F1 wEE )
A wepl fufae ofn qifes siftemfn,
YA AHTE $ 98F F9 F TEE
T

T wearaa faies A wwa § ' @ e
¥ gOdra ArriE B oy 3 g
fadas @1 ot 29 & arasE off @ fm
et aiada & it o )

49 few g F2 #1 wm w wd 3w ghy

(a)
(b)
fc)
(@)

1 3R 2
Fad 2
13k 3
3 3R 4

58. fadfa duandfa g & a0 § f=fefaa w99
7 foam fifsw

18

2.

Fo @om%ﬁﬁﬁmmm
o T

T waE o9 fe faselt, @, m,
wufirdt 3t g 99 3u feems Ja i
Tl oy =nd)

yEgERl 4 g & osEm ek o §
HYEH ST 9ga e 8

yEwEH 4 g B ozam ek wfy #
e 91 9rad § STEE 2

IR FoEl 3 | e-a/d wd /87

(a)
{b)
fc)

Fad 1
1 3R 2
2 3R 3

(d 334
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59. werew M g I=NE wuw' & fafm el ¥
gy 1 e syt w fomr $ifvw .

1

ifedn 3R GmR ¥ WY wow giiga @
31 B

S & 31 abmE s vedifas iR
U TSI & &3 " R (T |
=& Fe R, B oaw @ ¥ o
a7 3 & Ews g 2|

HHeq & HIY WS S Gloal T g
A yw fFan s w2

I woEl § A PH-T1/3 wh /R

(@)
(b)
c)
(@)

Fad 1
Faa 1 3R 2
3 3R 4
1,2 3R 3

© 60. HEEN T ¥ dElEER W EAE 9NE #9490

q1/97

1.

s 18 & % vl dwem @
yyifaa @ S stRensdi/adl f wwa W=
wufa e o)

Tiefisft 3afEen & SRl (REfee) @
wuifea )

Mt admad SR Escaaniedl
(Tmifega) & oraa & veigs 9

9 g 1 g2 = v = wd 3w g
(@) Faa 132
(b) Faa 2 3R 3
(¢ 1,23R3
(d) Fae 1
[P.T.O.

Previous Pathsha!a




61. Which of the following statements about

the Shiromani Gurudwara Prabandhak

Committee (SGPC) are correct?

1. It began as the political wing of
the Singh Sabhas in the late
19th century.

2. It was formed in 1920 as part of the
upcoming Akali movement.

3. It was founded to reclaim control
of the Sikh shrines from the
government manipulated loyalist

committees.
4. It formed the Akali Dal to
coordinate groups (Jathas) to

reclaim control of the shrines.

Select the correct answer using the
code given below.

(@ 1, 3 and 4
(b) 2, 3 and 4
(c) 2 and 4 only
(d) 2 and 3 only

62. Which of the following statements with

regard to the speech of Mahatma
Gandhi at the opening of the Banaras
Hindu University are correct?

1. He charged the Indian elite with a
lack of concern for the labouring
poor.

2. He asserted that our salvation can
come only through the farmers.

3. He highlighted the plight of the
untouchables.

4. He promised to take up the cause
of the mill owners of Ahmedabad.

Select the correct answer using the
code given below.

fa) 1, 2, 3 and 4
fb) 1 and 2 only
fc) 1, 2 and 3 only
(d) 3 and 4 only

BLS-E-EDF/67A
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63. To be

64. Arrange the

65. Who among the

eligible to contest election
under the Haryana Panchayati Raj
(Amendment) Act, 2015, a candidate
should

1. have a functional toilet at home

2. have payment slips of power bills

3. not be a cooperative loan defaulter

4. have studied minimum matricula-
tion irrespective of category

Select the correct answer using the code

given below.

fa) 1, 2 and 3 only

(b) 1, 2 and 4 only

fc) 1,2, 3 and 4

(d) 3 and 4 only

following Commissions

chronologically on the basis of their date

of setting :

1. The Second Administrative Reforms
Commission

2. The Eleventh Finance Commission
3. Punchhi Commission
4. Sarkaria Commission

Select the correct answer using the code
given below.

a 4,2, 1,
(b) 4,3, 2,
(c) 3,2, 4,
@ 3,4,1,2

s W)

following won a
Gold medal for India in Men’s Javelin
Throw event at the 2016 Rio Paralympic
Games?

(a) Rinku Hooda

(b) Devendra Jhajharia

(¢) Sundar Singh Gurjar
(d) Mariyappan Thangavelu
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61. Fmfr Tegr werws |l (SGPe) F &t &

Frfafaa § 8 #9-8 %@ ad &7

1. & 1991 §ft & 3fa A fye wwsft &
T 98 % ¥ § AT S|

2. 4® 1920 # Jpmfi FFHEA HAEEH H
T % &9 § 5478 778 off)

3. @R F B-018 Feh T8 T dHER
aiufat @ e s #1 s 9og
o % forg & weenfia for 9

4, TH1 WA (SY]) % WY 99y 0 %
o el @@ = o qemEt @
o ama forn < w3 |

719 fw e 2 F1 wE o ad swm g

(@ 1,334

(b) 2,334

(c) Haa 2 3R 4

(d) Fas 2 3w 3

62. AE feg favafamrer & gy w wEen wid

F 9o & Wy § Fefafes § @ P9-2
FYq GEl 87

1. RN YR yaEEl W 3y @ 6
I wergdl A At Al & wfy e
H9TE B

2. IEM SR IR F@ 6 el gfe deEw
Foramt % g € gt )

3. IR gl $) g W fae s )

4, IFM FpgweER % e o F aoe
) I3M T T o

R o e g W wam R gd I ghu)

(a 1,2,33R4

(b) Had 1 3R 2

(c) Faa 1,2 33

(d) Fa« 3 3 4
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63. efamn yard ue (deiya) sfufigs, 2015 %

Heia gAE @eA it g & o e wersh

1. & 9§ W W HH W@ F NEed we
=1feg

2. % ym fasrcht ¥ faedl Ft ypmm offai
B =R

3. I gEEh wu F awEn (Rwiee) 3¢
B =Ry

4. ) =JFan 4w a® svaEa e gen B
aifew, =R @r frdt oft o % a7a s
L]

9 fag g 2 w1 wEm W Ed I gh)
(@) Haa 1,2 3 3

(b) Fad 1,2 3R 4

() 1,2,33R4

(d) Faw 3 3 4

64. Fr=fafaa smart 3% e A fafd F smuw

T HITHATTAR Safeda Hif

1. fadg wemafie gur s

2. vl e s

3. 93 sEm

4, | A

#i= fa T 2 @ wEm W= ad IR gy
(@ 4,2, 1,3

(b) 43,21
€ 3,2, 4,1
(d 3,4, 1,2

’ 3

’

65. f=fafaa # ¥ frg faed 3 2016 ¥ &

Yofafts @l 3 geal F wen F (Safem 91)
Qe F1 @Yl g Wd % feru sfan?

(a) TE g

(b) &= e

(c) T T i

(d) W®FE 9rTEg
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66. Which of the following statements with 68. Which of the following are the powers of

regard to Panchayats in India are

correct?

1. Seats in a Panchayat are filled by
direct election from the territorial
constituencies in the Panchayat
area.

2. The Gram Sabha is the body of
persons registered in the electoral
rolls relating to a village within the
Panchayat area.

3. The Panchayats work on
the principle of constitutional
autonomy.

4. The State Legislature may by law
endow the Panchayats with the
power and authority to enable them
to function.

Select the correct answer using the code
given below.

fa 1,2 and 3
(b) 2, 3 and 4
fc) 1,2 and 4
({d) 1 and 4 only

67. Which of the following statements

regarding Indian federal system is/are
correct?

1. All States have equal represen-
tation in the Rajya Sabha.

2. Consent of a State is not required
for altering its boundaries.

3. There is no dual citizenship in
India.

Select the correct answer using the code
given below,

(@) 1,2 and 3
(b) 2 and 3 only
f¢) 1 and 3 only
(d) 2 only

BLS-E-EDF/67A
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the Supreme Court of India?

1. Original jurisdiction in a dispute
between the Government of India
and one or more States

2. The power to hear appeals from the
High Courts

3. Passing decrees and orders for
doing justice in any matter before it

4. Render advice to the President
of India in matters of law

Select the correct answer using the code
given below.

(@ 1,2, 3 and 4

{b) 1, 2 and 3 only

() 1 and 2 only

(d) 3 and 4 only

69. Which one of the following is not a

component of Revenue Receipts of the
Union Government?

(a) Corporate tax receipts
(b) Dividends and profits
fc) Disinvestment receipts

(d) Interest receipts
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66. W@ W YaMdl ¥ weaey A Fefafas § @
-8 F9F o1 87

s 4

qaEa &3 J e Pates-aE | vas
I BRI GEEa 6 € F O I e

M |/ 3 AR # O Rel R, A
I &9 F ata oW T et om
%\ Fratas TmEfadl # gsiga )
qamd wiaute @ & e W
w1 Hd B

Ty fqurved, by g t9mE #®
wifts 3R wifrer 2 wwa § @ 3 5
F 1 gEH A G|

9 fa e gz w1 W W ad 3w gR|
(@ 1,233

(b) 2,334

) 1,234
(d) 9@ 1 3R 4

67. fr=faflaa # | Fm-w1/3 sy g sfadg
wae] ¥ gy | ud /87

38

3.

=g g1 ¥ |t o= = wfafRfis qum
Rl

frdl T Y drmiedt A sgeaE & fou 3w
T4 H TEAl AEEE TE R

WA | argdl Amiehar 78 21

9 fow o gz F1 W AR wE I )
(@ 1,23M3

(b) e 2 ¥w 3

(c) Faa13R3

(d) *ad 2
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68. WNd & I=aw AAEeE (i #:1¢) 1 wiwl
frafafaa § | @R 27

y &

T 91 UF § A4 TSE a9 WG SR
* #F fFdl e ) &= 5 ambs
srfemiiea

I= e # fqeg adied g3 $ ufw

9% guy 3 fFd of g # e w e
% fom fEh 3 smew wifm &

fafy @ wafm ame & wwa F wgefa
% HATE &1

fr g My %2 1 wEm = oEd 3w g

(@ 1,2,33M4

(b) FaA 1,2 3R 3

(c) Faw 132

(d) Faa 3 34

69. Frefafas & 4 F9-w1 @9 wFR 6 W=
iRl &1 g2 TE 27

(@) FmitE = wifai

(b) AN ALl TN

(c) Tafvam witat

(d) =arst wiwat
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70. TRIPS Agreement pertains to
fa) international tariff regime
(b) intellectual property protection

(¢) international practices on trade
facilitation

(d) international taxation of property

71. The 7'6% growth rate registered by
Indian economy during the year
2015-16 is based on

fa) Gross National Product at market
prices

(b) Gross Value Added at constant
prices

(c) Gross Domestic Product at market
prices

(d) Gross Domestic Product at
constant prices

72. Which of the following statements about
the Trans-Pacific Partnership (TPP)
is/are correct?

1. The TPP was signed by 12 Pacific
Rim nations in the year 2015,

2. The TPP is likely to be a
game-changer in global trade as
member countries account for
about 40 percent of global GDP,

3. India is a founder member of TPP.

Select the correct answer using the code
given below.

fa 1, 2 and 3
(b) 1 and 2 only
fc) 2 and 3 only
(d) 1 only

BLS-E-EDF/67A
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73. Which of the following statements about

Bitcoin is/are correct?
1. Itis a decentralized virtual currency.

2. It is generated through complex
computer software systems.

3. The Reserve Bank of India
recognized it as a legal tender
in January 2016.

Select the correct answer using the code
given below.

(a) 1 only

(b) 1 and 2 only
fc) 2 and 3 only
(d 1,2 and 3

74. Hindustan Aeronautics Limited handed

over the first two indigenously designed
and manufactured light combat aircrafts
to the Indian Air Force in 2016, What is
the name of these new combat aircrafts?

(a) Marut
(b) Garud
(c) Tejas

(d) Pushpak

75. Consider the following statement about a

famous football player :

“He was diagnosed with a growth
hormone  deficiency during his
childhood but went on to win three
European Golden Shoes in his career.”

Who is that player?

(a) Andres Iniesta

(b) Lionel Messi

(e) Cristiano Ronaldo
(d) Zinedine Zidane

Previous Pathshala




27

70. TRIPS dwgian frad wwafim 27 73. faewiga (Bitcoin) ¥ Wy # f=fafaa # @
FH-11/8 T T B/E7
@ RSl 1. I8 o foddiga wig 331§
(b) e T TE 2. W Wite Frgm giveaw yonfedt g
gfea foman s 21
e 3. ford &% % $a 3 sl 2016 # @
(@) wwaf @ sadE FuuH F Ay T2 F w9 § 9d w@E i)
| = fa o g2 w1 v = Ed Iw g
71. a4 2015-16 % SR WG AdTaw g0 &5 (@) Fad 1
H 18 7-6% h gfe | F1 3naw w7 R7 (b) FaE 132
(@) TSR PR R FHA TEA IR (c) ae 2 33
PR S R @ 1,233
(c) AR FWal W T Hie IqR 74, fegmm WAfes fafirs 3 @i w9 @
yafeua wd fiffa e T gem 9 &% @em
(@) ToR Fwi T wwe w3 M, 2016 # Wi ag ¥ B W) T Y
wrerg fmml 1 am = 27
72. Zw-4fafes wEwlM (TPP) ¥ Wy # (a) WG
Frfefaa # @ #=-91/8 F97 wd R/E7 (b) TS
1. @d 2015 # 12 ¥l R w0 (c) ¥
TPP W e o ) ppp—

2. U dwe ® % TPP AfFaw =R #
fm ofEdE (M-IR) w@ifem @,

G S O M B . . 75. @ ¥ w fawma faard & waw #

fa=r 3
e 5% wew 39 &1 R ﬁq%::q;mm N
: - Heqdl o
3. ¥4, TPP %1 U §&19& Hee B | s H e § e e e
49 R T 2 =1 v W wd I i %1 gehr )
(@ 1,233 3G faerd) #1 7m =91 27
(a) TUfEH 3T
Faa 1 3 2
o ) i el
(c) Fae 2 33 (c) FrfEar TR
(d) FaE 1 @ Twfe frm
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76. Which of the following statements is/are 78. Which one of the following is not an Inter-
correct? Services Establishment?

1. In June 2016, the LIGO group of
scientists announced the detection
of a second set of gravitational
waves.

(a) Officers Training Academy

2. Gravitational waves were generated (b) National Defence Academy
due to merger of two black holes at
about 1-4 billion light-years distant.

3. Gravitational waves were inserted
due to collision of two white dwarf

stars at about 1-4 billion light-years (d) Armed Forces Medical College
distant.

(c) National Defence College

Select the correct answer using the code

given below. 79. Which one of the following is a Peacetime
Gallantry Award?
fa) 1 only
(b) 1 and 2 only (a) Shaurya Chakra
fe) 2 and 3 only
(d 1,2 and 3 (b) Vir Chakra
77. In the year 2016, the Government of () Yudh Seva Medal

India announced a ¥ 6,000 crore special
package for the textile and apparel

sector to (d) Param Vir Chakra
1. create one crore jobs within three
years
2. create jobs equally for men and 80. The Headquarters of the Southern Naval
women Command of the Indian Navy is located
3. provide tax and production at which one of the following places?

incentives for the entrepreneurs

Select the correct answer using the code (a) Karwar
given below.

@ 1ooly (b) Kochi

fb) 2 and 3 only () Thiruvananthapuram
(¢) 1 and 3 only

(d 1, 2 and 3 (d) Chennai
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76. Frafafiad 3 & w9-w1/3 Fua wd 2/87

1. 34 2016 # a@FH F LIGO &g A
Teed avn & uF fGda ayem A @
% gron )

2. TEEE T f It nm 144 Rl
yar-ad ) gl W D =% Al (black
holes) % faea % #rw g§ o)

3. TR av wmm 14 fafemm yw-ad
% gt W A ghe aWA aRl H T &
=rv Fifae & o

1 fog g e @ A A Ed W gR)
(a) ¥ad 1

(b) Faa 1 3R 2

fc) Fad 2 3R 3

(d 1,233

77. 94 2016 H 9Rd R A 96 A ofuE &3 F

fau ®6,000 F0g i w oy e H
uyon Frafey £ «fi?

1. dF a6l & fim w Fog Nt ghe
A

2. el iR wfdensdt ¥ forg swer efat
gfvm #C ¥g

3. i@l #1 W 3R IWEA W B
A ¥

it fig g e w1 v woEd W g
(a) Fa« 1

(b) Faa 2 3d 3

(c) Fae 133

(d 1,23R3
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78. Frafaflaa # & #F-w @& @-ufaw sfem

(Inter-Services Establishment) &l 27

fa) At wfhew seh (siifead 2fm
wheH)

(b) THY &M araH)
(c) UEY 1 wErfaeE

(@ e sa e wefeey (s
s Afgwa Fier)

no. Prafafas # ¥ F-w 1w it AR

O R7

(@) o 9%
(b) #R=H

(c) & a1 Hew

(d) THER FFH

80. widg ¥ & il = wwm w1 geea

Prferfaa # | fra wm w7
(@) FER

(b) Fr=h

(c) Tereariage

(d) <%

[P.T.O.
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81. Match List-] with List-Il and select the

oo w >

correct answer using the code given
below the Lists :

List-] List-IT
(Act/ Event) (Year)
Rowlatt Act 1. 1922
Salt March 2. 1931
Chauri Chaura Incident 3. 1930
Second Round Table 4. 1919
Conference
Code :
(a) A B C D
4 3 1 2
(b) A B C D
S 1 4 2
fc) A B C D
4 3 2 1
{d) A B C D
3 4 2 1

82. Consider the following statements about

the Salt March :

1. The Salt March was deliberately
ignored by the European media.

2. The Salt March was widely covered
by the American and European
press.

3. The Salt March was the first
nationalist activity in which women
participated in large numbers.

4. The Salt March impressed upon the
British the urgent need to devolve
more power to Indians.

Which of the statements given above
are correct?

(a) 1, 2 and 4
(b) 2, 3 and 4
(c) 3 and 4 only
({d) 2 and 3 only

BLS-E-EDF/67A
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83. In the elections

to the provincial
legislatures in 1937 in British India

1. only about 10 to 12 percent of the
population had the right to vote

2. the untouchables had no right to
vote

3. the Congress won an absolute
majority in five out of eleven
provinces

4. the Muslim League won more than
80 percent of the seats reserved
for Muslims

Select the correct answer using the code
given below,

(a) 1, 3 and 4
(b) 1 and 4 only
fc) 1 and 3 only

({d 2,3 and 4

84. Which of the following statements about

the social base of the Arya Samaj in
British India is/are correct?

1. It was located mainly in Punjab and
western Uttar Pradesh.

2. It mainly comprised the trading
castes.

3. It was much more limited than that
of the Brahmo Samaj.

Select the correct answer using the
code given below.

fa) 1 and 2 only
(b) 2 and 3 only
fc) 1 only

(d) 1,2 and 3
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81. g1 # -1 ¥ w9 gafem Aifsm sin

gfeal & 9 faw T gz 1 @ W= Al W
gfa
-1 HE-11
(wrfirfam faem) (=nd)
A. &z 1. 1922
B. 9% WH 2. 1931
C. =t ¥ gz 3. 1930
D. ifa e dw e 4. 1919
w2
fd A B C D
4 8 3 2
) A B C D
: 8 9 % 3
fc) A B C D
+ 8 2 1
d A B C D
3 & a 1

82. & W™ % &) # Fr=fofes w9 w faEw
$ifd

1.

2.

3.

4.

U SEaR WeEE g SHgEe
T WTE 1 et fmn T a1y
e 3R gUftEA 39 g0 99 7 w6
=9a fearor e mn )

wfeenait 3 g€ e 7 e foan

9% e A B W 3@ ywm g
ydig # 3 st sfier divy @
@ FawEEa R

S o § A A w87

(a)
(b)

1,23R 4
2, 334

(c) +ad 3 3N 4
(d) ¥Fa 2 3R 3
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83. faftw wwa # 1937 ¥ widy fRurd=za F
gAmEt §
1. @9 10 ¥ 12 yfawa sween ) @ 54
2 1 AfER @

gl I WA 29 F AT T @

3. wwe # ¥ 9fa yidl # W W 9gEa 3
forereft &8

4. e % fog swide 42 § 8§ 80 wfowm
A Ffr #iE W gfeam o =t feg aw

(§
#r2 Ry o 2 w1 wEm W ad 3w gh
@ 1,3 3R 4
(b) *aa 1 3N 4
(c) Faa 1 33
(d 2,334

84. faftw wa # ol g F wmifes amur %
gy 1 frafafas # 4 ¥9-a1/8 599 @@
B/

1. 9% Y&Fa: 99E 3R ufeedt 3w wew #
- aferE 91|

TR Wega: = sfoat amfae o)

3. T F@ Wi # gor A Fga fuw
it o

19 By o F2 w1 v =g 39 i)
(a) Faa 1 3R 2

(b) @ 2 3R 3

(c) Faa 1

(d 1,233

[P.T.O.
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85. Who among the following is the author 89. Alexander Kerensky was
of the book, A Comparison between
Women and Men?

(a) Pandita Ramabai fa) the head of the Provisional
a 1 ‘

Government in Russia before the

(b) Sarojini Naidu October Revolution
(c) Tarabai Shinde
(d) Rameshwari Nehru b} a close confidant of Lenin, with

whose help the Czar was dethroned

86. The fact that the planets move around

the Sun, not in circles but in ellipses, {c) the head of the Czar’s army
was first demonstrated by

(a) Galileo
(b) Martin Luther

(d) an advisor of Joseph Stalin

(c) Johannes Kepler :
(d) Copernicus 90. The Twelfth Five-Year Plan focussed

on inclusive growth. Which of the
87. During the mid 19th century Industrial following were considered as challenges
Revolution, the average life span of for inclusiveness?
workers in Manchester was
1. Poverty
fa) 17 years
(b) 30 years 2. Group inequality
(c) SS years 3. Regional imbalance
(d) 62 years 4, Unemployment
88. George Washington was made the
Commander in Chief of the American Select the correct answer using the code
forces given below.,
(a) in December 1773, after the Boston
Tea Party (@) 1, 3 and 4 only

(b) at the First Continental Congress

in September 1774 (b) 1,2, 3 and 4

(c) at the Second Continental Congress
in 1775

fc) 1, 2 and 4 only
(d) by the Continental Congress at

the Declaration of Independence
on 4th July, 1776 (d) 2 and 3 only
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86.

87.

T FHREA fagdy gH7 U3 49 gEE 1 oww
TH 3 FE R

(@) wfEa TEmR
(b) EF TIg
fc) avas foe
(d) TRwEl YEE

e e 5 7w, gd F SR SR 3§ 7 A
et 3 g &, weR e P weRie e
a7

(a) Hefiferat
(b) W G
(c) TEFY FIeH
(d) =

1041 wa=dt & nen A efe w=if F dm
T | st ) siea sfiar-aafy e
7

(@ 1794
(b) 30a4
(c) 55=4
(d) 62 a4

STl FPTeA & SR &1 %1 Fae @ A%
e G T 417

(@) AV 91 9 F yvEm, e 1773

(b) VYR WEEME FO9 F anE, faan
1774 §

(c) Tl merdiia #im & 3@, 1775 3§

(d) wEENE FEE W, 4 g%, 1776
EaEal F =5 F §9Y

BLS-E-EDF/67A

89. ITFISt Fh B 47

(a) R Fifd W 9B ¥6 H AT THER
F WU

(b) @A F uftg favamum, e 59 3
SR ! TE ¥ AW = 91

fo) SR H FMF yam

(d) S LA F T gaEFEn

90. WEdl YHAWE FSW W F-fag wwEwh

e @ wmafim f T % w9
Trafafaa § 3 62 gm man?

1. Tt
2. HYE IFEYFAI

3. &7 swEger
4, ST

i fow M Fe =1 wEm = wd I gh)
(@ Fa¢ 1,334
() 1,2,33R4
(c) Faa 1,234

(d Faa 233

[P.T.O.
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91. Which of the following statements are

correct about ‘Saakshar Bharat’ scheme?

1. It is a centrally sponsored scheme
which was launched during the
Eleventh Five-Year Plan.

2. The scheme applies to women in
particular and  disadvantaged
groups in general.

3. The scheme applies to persons
above the age of 10 years.

4. The scheme is anchored with
Panchayati Raj Institutions and
Local Self-Government.

Select the correct answer using the code
given below.

fa) 1,2 and 3
(b) 2, 3 and 4
fc) 1, 2 and 4
(d 1, 3 and 4

92. BRICS Summit, 2016 was held in

(a) Brazil

(b) China

fc) India

(d) South Africa

93. Which country signed a Memorandum of

Understanding with India for promoting
the production of Pigeon peas/Tur and
other pulses in July 2016?

(a) South Africa
(b) Syria
(c) Egypt
(d) Mozambique

BLS-E-EDF/67A

94. Which of the following statements

relating to the powers of the President
of India is/are correct?

1. The executive power of the Union
shall be vested in the President.

2. The executive power shall be
exercised by the President only
through officers subordinate to
him.

3. The supreme command of the
defence forces of the Union shall be
vested in the President.

Select the correct answer using the code
given below.

(@ 1, 2 and 3
(b) 1 and 2 only
f¢) 1 and 3 only
(d) 3 only

95. Which of the following statements

regarding Article 21 of the Constitution

of India is/are correct?

1. Article 21 is violated when the
under-trial prisoners are detained
under judicial custody for an
indefinite period.

2. Right to life is one of the basic
human rights and not even the
State has the authority to violate
that right.

3. Under Article 21, the right of
a woman to make reproductive
choices is not a dimension of
personal liberty.

Select the correct answer using the code
given below.

fa) 1, 2 and 3
(b) 1 and 2 only
fc) 1 and 3 only
(d) 2 only
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91. ‘Wi ¥RA Al ¥ gy # frefaRas § @

FH-9 F9F G 87
1. 4% & %z YEISE 99 2, o e
qeayig gier & 90 ey e mn )

2. %@ A faEm w9 d wfeened el
FME: df9d GgE W Ar] ad #)

3. T® A 10 9 ¥ afus g & =afedl
R A A 21

4, IR A9 YA U9 gena 3 e
@ EE W 3 2

2 fag M 5= = w@m =W 9d IW g
faj 1,23R3
() 2,334
() 1,234
(d 1,3 3R4

92. BRICS firat w9iem, 2016 F#l smifoa gan

977

fa) FTSTA

(b) A

fc) WRd

(d) =& Th

93. I 2016 # fFw 2w 3 swey/q v ==

2l % I9EA FI 9eF F foU WRd ¥ 91y
THEa-TT9A W EEaEr R

(a) =Em sfi
(b) HifEn

(c) T

(d) wrnfeEs

BLS-E-EDF/67A
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94. YRd % Updla i wiwal & gy § frafafaa

2 B/ T T b/

1. ®9 F FEves e el § ff
Ll

2. updfd s A ey sy %
e |/ # wEgEs wie #1 9am
ST |

3. w9 #l w FNA W wEE G@ERY
(supreme command) TEgfa ¥ fifea
7|

#12 fw g 2 = wEm = wd I g

(@ 1,233

(b) Fae 13w 2

(c) *aa 1 3R 3

(d) Fad 3

95. Wd & HiawH ¥ =3t 21 F =y §

Frafafaa § @ F9-1/3 w9= w6 2/37

1. =32 21 %1 Ifeau 79 dm B, 54
fomondn Hfm w1 s s@fv &
o =nfaa faoma & freg fr sman )

2. e F AYFR TH AURYA HHATEFR
? R W aftER F wfewa B ofs
T % qr| ot 78 B

3. =2 21 F FA SHTHF 99T F
# fedt sfeen = sfisr =fee
Eoaal F1 T JEE T8 B

4 fa e g2 = wEm = wd I g
(@ 1,233
(b) Faw 1 3R 2
(c) e 133
(d) T 2
[P.T.O.
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96. Which of the following statements is/are
correct regarding Right to Education in
India?

1.

Free and compulsory education
should be provided to all children
of the age of six to fourteen years.

The imperative of the provision of
the Right to Education Act, 2009 is
that schools must have qualified
teachers and basic infrastructure.

There should be quality education
without any discrimination on the
ground of economic, social and
cultural background.

Select the correct answer using the code
given below.

(a)
(b)
(c)
(d)

1,2 and 3

1 and 2 only
1 and 3 only
3 only

97. Which one of the following statements
regarding freedom to manage religious
affairs as per the Constitution of India is
not correct?

(a)

(b)

(c)

(@)

Every religious denomination shall
have the right to manage its own
affairs in matters of religion except
some minor communities.

Every religion or any section
thereof shall have the right to
own and acquire movable and
immovable property.

Every religious community has the
right to establish and maintain
institutions for religious and
charitable purposes.

Every community has the right to
manage its own affairs in matters of
religion.

BLS-E-EDF/67A

98. Which one of the following statements
relating to protection against arrest and
detention of individuals under Article 22
is not correct?

fa) No person who is arrested shall be
detained in custody without being
informed of the grounds for such
arrest.

(b) No person shall be denied the right
to consult, and be defended by, a
legal practitioner of his/her choice.

(c) Every person who is arrested
and detained in custody shall
be produced before the nearest
Magistrate within a period of one
week of such arrest.

f{d) The right to protection against
arrest is not available to a person in
jail pursuant to a judicial order.

99. Which one of the following intellectual
property rights is protected without
making any registration?

(a) Copyright
(b) Patent
fc) Industrial design

(d) Trademark

36
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96. wid # Toan ¥ wrfer F At § Freferfaa § 98. IFW 22 F Iwia AR H it ik

-9/ FUF 98 /87 ‘ Ry ¥ weam F gy § fefufas 3
1. % @ e 9 A oy & aft a= F T HUR TE A 27
foe gwa o afed fgn =1 wEum
B =g | (@) fireww oy o = ) fgd & Fwoi
2. fom =1 sftmr sfufm, 2000 % B @@ A fa afven § g 98
Y $ SFaEa 2 5 et 4 9 T@r S |
e R g sEEET Faw
e |
L ; e N (b) Tl =t = v o % fafy gemesn
STRi, Wi gt Jefh ¥ Ty 9 IR FEE WA F afER
ar ) fom el fewm ¥ e & e 7 Fean s
e wem A s+ =fRT)
A= fow 7 g2 1w A R g (e) Trwar frg e @ sfipen & feg @
fa 1,233 T ydE Afe H 386 inwd | =
aure # afy 7 Freean sz % wug
(b) Faa 1 3R 2 g o |
(c) Fa& 133 .
(d) Faa 3 (d) =% 9 F e § R § @

m et =afr = fingardt @ dwm =

97. WA ¥ dfaum ¥ JgER uiffes FE1 % yay A

# T % vy § fafafaa § ¥ S9-a

FHYA FE 7E 87

(a) F9 TY GEEl H B TS giE 53 s \ e

e Sl i s %.ﬁ;;gﬁaa 3 .md;i?asmm

0 F1 AHER B B AN

(b) TAF ud g1 Ig% R wm g 5 =5 "
P S S R
Ffe=r B |

(0 o ufts aEm ) afs @ e
v % e deenst i wwmer st
I WEEE F JAUFR B (c) rifir fastgm

(d) TF TEM A A witvas sl %
T F1 AHR 3| (d) =mr-fag (Zeum)
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100. Which one of the following indices is now 103. Amartya Sen was awarded the Nobel
used by the Reserve Bank of India to Prize for his contribution to
measure the rate of inflation in India?

(a) Monetary Economics
(a) NASDAQ Index
(b) Welfare Economics

(b) BSE Index {c) Environmental Economics

(c) Consumer Price Index (d) Development Economics
(d) Wholesale Price Index 104. The rank of Captain of the Indian
Navy is equivalent to which one of
the following?
101. The Most Favoured Nation (MFN) Clause . .
under WTO regime is based on the (a) Captain of the Indian Army
principle of

(b) Group Captain in the Indian
Air Force
fa) non-discrimination between nations

y {c) Lieutenant Colonel of the Indian
(b) discrimination between nations Army

(d) Wing Commander of the Indian
(c) differential treatment between

Air Force
locals and foreigners
(d) uniform tariff across commodities 105. Which one of the following statements
is correct in relation to the Indian
Air Force?
102. Goods and Services Tax likely to be levied fa) It has bases in many friendly
in India is not a countries.
: (b) 1t does not carry out joint exercises
(a) gross value tax with any country.
(b) value-added tax fc) It has a separate Maintenance
Command.

c umption tax
[ CORsITIRI0 (d) No officer has ever been elevated to

the rank of Marshal of the Indian
(d) destination-based tax Air Force.
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100. F=fafan # @ F1-w guds wwa § g

F R = AR F e wrd fiod 9 g oE
A | T s 27

(a) NASDAQ §=&%
(b) BSE §a&i®
(c) YN Yod GEES

(d) & G2 GEFEF

101. WTO ¥IEH-349%4] % 3iavia waifus gdarel T8

(MFN) =1 waum e frgra o snafa 27
() TE % g T-fasdewm

(b) TE F &= fasEww

(c) i v R ¥ dre Rl =

(d) FEGHA F @9 HETH TeE (2RE)

102. F=fefEd # @ F9-91 yra & o 91 T@

Gvifad TTe uE da1 A 27
(a) G A

(b) 3 Fftha

(c) I9HM &

(d) Tasa-smaiE =W (RATH-a )
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103. ¥ B9 F I 9 fwg-23 & 9mem 3

o et R wem fea @ @7
(@) Afxw dara

(b) FEEHH R

(c) wETaofig sy

(d) Tamwrarers s

104. Wl de ¥ 32 = 7@ Frafufen § @

Tras wmwe B 37

(@) ST F9 1 FA

(b) WS 9Tg &1 F1 9 A
(c) WTtE 1 = AT Fe

(d) WdrE arg 1 = fam wEiE

105. YA 919 & & =y # feafafes § @

FH-T1 FUA GE 27
(a) FEF1 3 frg 2l 9 enum (F9) )

L R R pm——
R

(c) TEH TH YUF FEV (W) TS
sy

(d) awdE 9y ¥ F R off el =
E % AN F1 e 76 R o Ry

[P.T.O.
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106. The

Indian Navy in October 2016

commissioned the highly maneuverable
fast attack craft INS Tihayu. INS Tihayu
would be based in

(a)
(b)
(c)
(d)

Kochi
Panaji
Visakhapatnam

Mumbai

107. Which one of the following sectors is
not affected by the changes made in
the Foreign Direct Investment Policy
in June 2016?

(@)
(b)
(c)
(d)

Multi-brand retailing
Defence
Private security agencies

Manufacturing of small arms and
ammunitions covered under the
Arms Act, 1959

108. BREXIT refers to the Great Britain
leaving which one of the following?

fa)
(b)
c)
(d)

International Monetary Fund
Commonwealth
World Trade Organization

European Union

109. In which one of the following cities

are the Summer Olympics, 2020 going
to be held?

(a)
(b)
(c)
(d)

London
Paris
Tokyo

Moscow

BLS-E-EDF/67A

110. Who among the following is the President
of Republic of the Union of Myanmar?

(a)
(b)
(c)
(@)

Aung San Suu Kyi
Htin Kyaw

Myint Swe

Henry Van Thio

Directions :

The following two (2) items consist of two

statements,

Statement 1 and Statement II.

Examine these two statements carefully and
select the correct answer using the code given

below.

Code :

(a) Both the statements are
individually true and Statement II
is the correct explanation of
Statement |

(b) Both the statements are
individually true but Statement II
is not the correct explanation of
Statement |

(c) Statement I is true but Statement II
is false

(d) Statement ] is false but Statement II
is true

111. Statement I :

The passing of the Coercive Acts made
reconciliation between Britain and her
American colonies virtually impossible.

Statement Il :

The British Parliament, having issued
the Stamp Act in 1765, repealed it
later.
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106. HFR 2016 ¥ HRd™ AW A i 110. ¥4 | SR 69 % 706 1 U9 9 27
gfeFere ot fig SERv Siee e INS frer

# witE w R INs R w& snria (@) 3 HE G
arm? 5 s
(@) Hr=ht

(b) woTSh (¢ fEza

(c) Toremarazm (d) FTWham fr
(@) T

107. frafifas & & FR-m1 &9 vaw e few FEw:

;ﬁg;%zolsﬁmm R fifeifaa 2t (2) wwiel & @ @9 §, 91

F9F 1. ¥ S FUH1 1 wEEEgEs s Hif it
(a) =g-4% gau fahl A fe e 2 = WM = '@ 3w g
(b) &M
w2
(c) Tasht gan wsifat ,
(@) mga fufEE, 1959 % Fafd aH 9 (a) ST FYA HAePT-Her TG & I FUA 1
P12 Y@ 3R Ter-ares # fnf 1 Bt TIEtH YA 11 2
108. ¥z it Frffen 3 @ frad o @ w 2, o fuz’”mm'gﬁ;%%m‘
St BREXIT ¥ dafifa 27
(a) H-RIEE qFT FY (c) %9718 2 g 9 11 3w R
(b) TgHES (d) %941 3E ¢ fhg w99 119
(c) Tava =R g7
W) SRR ‘111, FHH I :
109. feffaa # A frg wet & dowreia e, wite® (Flerftia) sfufad & ofa 83 3
2020 B 7 W 27 fam o o9& afEh wfRe ¥ &=
. Hei-fiem awga: swva @ )
(@) <igd
(b) @ FU 1
fal S fiftn @ws, R 1765 § Bu afufem
(d) TR Tifta foan o, 3 @e & 38 fwa =
BLS-E-EDF/67A 41 [P.T.O.
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112. Statement I :

The Poona Pact provided for 151
reserved seats for the scheduled
castes to be elected by a joint, not
separate, electorate.

Statement 1l :

Dr. B. R. Ambedkar withdrew from
active politics for almost a decade
when the Communal Award was
revoked.

113. Which one of the following statements

about the All India Depressed Classes
Association is not correct?

fa) The All India Depressed Classes
Association was formed in Nagpur
with M. C. Rajah as its first elected
President.

(b) The All India Depressed Classes
Association was not attended by
Dr. B. R. Ambedkar in 1926.

(c) Ambedkar resigned from the
All India Depressed Classes
Association and formed his own
All  India Depressed Classes
Congress in 1930,

(d) The All India Depressed Classes
Association favoured Ambedkar’s
demand for separate electorate for
the depressed classes.

114. Which one of the following statements

about the Justice Party is not correct?

(a) 1t clamoured for the same kind of
separate communal representation
for the Non-Brahmins as had been
granted to the Muslims by the
Morley-Minto Reforms.

(b) It was patronized mainly by richer
landowning and urban middle class
Non-Brahmins.

BLS-E-EDF/67A
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fc) It succeeded in getting the
provision for 28 reserved seats for
the Non-Brahmins in the Montagu-
Chelmsford Reforms.

(d) 1t supported the call given by
the Congress to boycott elections
in 1920.

115. The Ryotwari experiment in land revenue

was started by

(a) Henry Dundas
(b) Alexander Reed
fc¢) David Ricardo

{d) Mountstuart Elphinstone

116. Which of the following statements is/are

correct regarding the Preamble of the
Indian Constitution?

1. The Preamble by itself is not
enforceable in a Court of Law,

2. The Preamble states the objectives
which the Constitution seeks to
establish and promote.

3. The Preamble indicates the source
from which the Constitution
derives its authority.

Select the correct answer using the code
given below,

(@ 1, 2 and 3
(b) 1 and 2 only

(¢) 1 and 3 only

(d) 2 only

Previous Pathshala

1 v



43

112, 5941 :

g wft % fer 151 smfim o ¥g
T wE # 7 wEuE o1 % Pt @
g%, 1 5 gug, Fatewiea gm fea
ST

HYA 11 :

glo #lo IRo 3IrRATA afFa eEfa |
I UE 0 % Y em @ 2, wm
A Farg T R o)

113. e 3w fere womdn wEifguym & =it o
Frefafaa 3 @ Fm-w w99 ad T 27

(@) @@ 3fem foive o wEftom =i
TS AR H gan o1, o v faifia
AL THo Hio TS 9

(b) Tfo Hfo Mo AT 1926 F TH
ifem foine oy wWiftem # wufEm
T gL A

(c) e 3 e fEw e wmw
vEifeeE & gefer @ B s 1030 §
w|a F oA 3w e wRw Fiw
el

(d) =@ e e e witoem 3
e @ ¥g vwg fafsdea
ezt F) 1 w1 gmda fEn

114. SR 9 F an # Frafafas § @ F9-w1 99
e A R7
(@) T g F fag off 3@ wEr ¥
9% wrvaas st & e s
g, s & Aid-fR gud ¥
aferl F1 w2m B g )

(b) W T A wh g-w@fe v e
-gTRI HeAw v 1w W o
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(c) ¥9A HeY-JmHiE gurl § -smamit ¥
o 28 amfia @l #1 weuH wER §
A s |

(d) ¥@1 1920 ¥ gAEl ¥ aftww F R
Hig g fhe e sgm @ wweA )

115. y-TorE A Waardt wm w1 wnw Bead g
o n?

(@) 0 F=m
(b) WHE {
(c) 2fae faE
(d) wETRE faea

116. T4 & Gfaws & R & an # fefife §
B FH-91/ w99 v 2/E7

1. e = = | vada T8 2

2. Wfm W R N T R, e
wfayr wrfia we 3l s gem S
4

3. IRAE W wa # e w2, w7 A
wfaum o=yt i &

41 T me gz 1 g = wd 3w gy
(@ 1,233

(b) F&a 1 3R 2

(c) %@ 133

(d) Faa 2

[P.T.O.
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117. Which one of the following statements 119. Which one of the following statements
relating to cultural and educational is not correct regarding the Office of
rights in India is not correct? - the Vice President of India?

(a) Every section of the citizens has
the right to conserve its language, " (a)
script or culture.

(b)) No citizen shall be denied
admission into any educational
institution maintained by the State

or receiving aid out of State funds (b)
on grounds of religion, race or
language.

{c) The State shall, in granting aid to
educational institutions, discrimi-
nate against any educational (c)
institution on the ground that it is
under the management of a
majority community.

(d) All minorities, whether based on
religion or language, shall have :
the right to establish and (d)
administer educational institutions
of their choice.

118. Which one of the following statements
relating to the Directive Principles of
State Policy is not correct?

The Vice President is elected by
an electoral college consisting of
the elected members of both the
Houses of the Parliament.

The Vice President is elected in
accordance with the system of
proportional representation by
means of single transferable vote.

The Vice President shall not be
a member of either House of the
Parliament or of a House of the
Legislature of any State.

The Vice President of India shall
be ex officio Chairman of the
Council of States and shall not
hold any office of profit.

120. Which one of the following constitutional

(a) The provisions contained in Part IV authorities inquires and decides in
of the Constitution of India shall case of doubts and disputes arising
not be enforceable by any Court. out of election of the President and Vice

President of India?

(b) The Directive Principles of State
Policy are fundamental in the
governance of the country. (a)

(c) It shall be the duty of the State to

apply the Directive Principles in (b)
making laws.
(d) The Directive Principles are (c)

directed in making India an
advanced capitalist country of
the world. (d)
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117. 9@ § wipfos o s afterdd % ar &

Frfafaa & ¥ Fa-m Fum o 748 27

(@) iR F & @l w Al g, ol
HYET TR S W@ H AR B

(b) T g Wifta T v=3-FifY | wega ym
FH 9 frd e dom A e of
ariies = g, genfa 1 Wi F SR W
woY o1 | 9t 7@ e s

(c) & densdt F wgEEa veE FA H,
Ty ) e deam F ol @ s
T 7% 7 Tl gees eEE F yeu
% o= R, SewmE =M

(@) @ a1 s e @ ot smafa wsh
IEqEETE A 9 F i deE
# W FE AR T F G9eH #
R &

118. 5% # Hifa § fRy=-wd & waw #

Ffafa # F SF-a1 w97 98 78 27

(@) YA & @laum F wm v # srafae
ey fedt oft el T vaddg T
B |

(b) < F WA § =g ) A F s
EQrohd

fc) TSA % 98 Fd=a g & Frg =90 #
FRer-awl # arp Rt

(d) TRvs-ga, wra = e =1 & =9
Isfardt 2w 991 & o ffde B
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119. ¥Rd & INWIMH % FEfew ¥ =y

Fefafaa # & F9-w F97 ad 76 27

(a) ¥62 % 2F WAl % Faiftae == @
fram ¥ 99 = fEfeebea T
Iyt 1 Fratew e s &

(b) Iqugufa =1 Fafew smmfes wfitifes
Efi F AR THA FHAE WA F g
foran <mem &1

(c) Iwegfa wue F et oft a7 =1 1 T
U9 % faurmsa ¥ @e7 w1 e 9
2|

(d) Wd m'zwm T 991 # 9ed
yafa B AR A 92 gror T8
Ezuil

120. WRa % Tgufd o swpefy % fiafes &

weEl ¥R fEEl ¥ gma § sy ein A
Frafafas # 3 frg wifafs ot T
foru wma 87

fa) IRA F1 I=aq TAEY
(b) wra = Fat=a smm
(c) uudw wfufa

(d) g 3= =y

[P.T.O.
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